OA-WS04M-20/25

OA-WS04M-20/25

OA-WS07M-35/50

OA-WS10M-65/80

OA-WS06M-25/40
OA-WS14M-105/120

OA-WS09M-55/70

OA-WS13M-95/110
OA-WS08M-45/60

BIRICT vy FLIEZXT— FERSR

OA-WS12M-85/100 '

OA-WS11M-75/90
HRICSHEVWEEART 1. LEDEREA, N E—2 B DERS| ZAHERICHKE !

BUNAORIS| 207
FHA AN ERRIR |

NERERE

OA-W1609 b

$2 25

3 35 4 45 5 55 6 65 7 75 8 85 9 95 10 105 11 115 12

OA-WS04M-20/25

OA-WS06M-25/40

OA-WS07M-35/50

OA-WS08M-45/60

OA-WS09M-55/70

OA-WS10M-65/80

OA-WS11M-75/90

OA-WS12M-85/100

OA-WS13M-95/110

OA-WS14M-105/120

< 7ZA—L Btk At

OHM ELECTRIC



W B
- THEMSAT TLTva & oYvsy &

K BEBHRE (mm) BRAF 7R (mm) ¢ B ft4al ERRERE KAE= ARSE BT OyoHyh8=
OA-WS04M-20/25E $2~25 o4 M4 x 0.5 #2¢ LN-WS04M
OA-WS06M-25/40E $25~4 06 M6 % 0.5 “4g LN-WS06M
OA-WS07M-35/50E $35~5 b7 M7 % 0.5 LN-WS07M
OA-WS08M-45/60E $45~6 08 M8 x 0.5 w5 LN-WS08M
OA-WS09M-55/70E $55~7 09 M9 X 0.5 25~ +100°C ' 10f@ LN-WS09M
OA-WS10M-65/80E $65~8 ¢ 10 M10x 0.5 wog LN-WS10M
OA-WS11M-75/90E $75~9 o 11 M11x05 LN-WS11MBS
OA-WS12M-85/100E $85~10 o12 M12x0.5 @7 LN-WS12MBS
OA-WS13M-95/110E $95~11 $13 M13% 0.5 e LN-WS13MBS
OA-WS14M-105/120E $105~12 p14 M14x05 #8g LN-WS14MBS

- AR T TLTvia 8 oyvy B

L o A& ERE (mm) BRAF74ZE (mm) ¢ {4l ERRBERE rAEE AR SR B AL Oy yhi=
OA-WS04M-20/25 $2~25 o4 M4 x 0.5 #92g LN-WS04M
OA-WS06M-25/40 $25~4 06 M6 x 0.5 “h4g LN-WS06M
OA-WS07M-35/50 $35~5 o7 M7 % 0.5 LN-WS07M
OA-WS08M-45/60 $45~6 08 M8 % 0.5 w5 LN-WS08M
OA-WS09M-55/70 $55~7 09 M9 x 0.5 . LN-WS09M

—25~+100°C oE
OA-WS10M-65/80 $65~8 ®10 M10x 0.5 w6g LN-WS10M
OA-WS11M-75/90 $75~9 o1 M11x05 LN-WS11MBS
OA-WS12M-85/100 $85~10 b12 M12x05 #7g LN-WS12MBS
OA-WS13M-95/110 $9.5~11 $13 M13x05 LN-WS13MBS
OA-WS14M-105/120 $105~12 14 M14 %05 #8g LN-WS14MBS
XAy FybEFERLIGEDEHTT,
W SRTiE mi B
< OA-WS04M-20/25> < OA-WS10M-65/80> .gBFII:‘I] % ﬂ;
45 Max126 45, Max.153, MLALES ( ﬁ )

oy
fiHEEEPDM
it ;B TENBR
=
BEHp5 (ZurbivF)
LTy
it &4 EPDM
ifit 3 ENBR

<OA-WS11M-75/90>
45  Max.15.3 p14

<OA-WS12M-85/100>
45 Max.15.3
\

< OA-WS08M-45/60> <OA-WS13M-95
45  Max.15.3 @16
\

45 Max.153, AL

PBT GF30%
(##45'L—FUL94 HB)

LD e
H503 (Zv7 L AYF)

< OA-WS09M-55/70> <OA-WS14M-105/1
45  Max.15.3

45 Max.153 o112
[

EPDM: ITFL>FOEL T LA
NBR:=hJLT L

B A7 ay (AyoFuk)

2 K HEERE MmE AAE= HWaH= A B @ D
LN-WS04M 65 | 7 M4x05 6B o
LN-WS06M 8 | 88 M6 x 0.5
LN-WSO7M 9 | 10 M7 %05
LN-WS08M 10 | 11 M8 x 05
LN-WS09M : BHh5 #ig TR M9 x 0.5 < L
LN-WS10M 2mm BT (= gLty ) 10f8/% 12 | 13| 2 [Mioxos
LN-WS11MBS 13 | 14 M11%05 ’
LN-WS12MBS 14 | 15 M12 % 0.5 JISA- LR Rl D
LN-WS13MBS 15 | 16 M13x 05
LN-WS14MBS f92g 16 | 17 M14% 0.5

S ZA—-LEEtgikNa T

OHM ELECTRIC

ES # T431-1304 #RE R R ILEMTETR)I 7000-21
HAFY—H—EALVE—

B R X E T244-0801 #E)IIRHETFRRX SIRET 546-8
A XE T431-1304 4 EEMHILRMIETS)I 7000-21
AHEXE T465-0025 BHRAHEMARK L1t4-140 (052)703-0311  FAX (052)703-0327
KR FE T564-0031 ABRATUREMITHT 19-13 HOWIALIL 2F EEE(06)4860-7111  FAX (06)4860-7119
fEREEFT T815-0081 &M EEEMERMOIIN 1-14-1 5% (092)531-6685 FAX (092)531-6695

R—LR—Y www.ohm.jp/

E5E(053)522-5555 FAX (053)523-2361
(053)522-5572  FAX (053)522-5573
(045)820-1411  FAX (045)820-1206
(053)522-5561 FAX (053)523-2362

OFNA0Y DRUFEIRED-OFEHCEETHENBYET .
OANANY ERBOERDEFHRNO-H S D RELEENHYET . |OHM —a1—X vol1l 84|




